Amana LE7163LM (BOM: PLE7163LM) 18 - POWER CORDS

0130
0140

70A

Amana Residential Amana LE7163LM (BOM: PLE7163LM) Dryer Parts Parts Diagram 18 - POWER CORDS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 502120 489069 Xxscrew, 10-12 X 1/2
20530 Screw, 10-24 x 3/8 Hex

; (ADD LETTER BEFORE “P™

2 500001P Not Available IN PART

3 500343 Not Available PANEL,BACK(HOME HOOD)
. (ADD LETTER L-L, W-W TO

4 500085P Not Available PART N

5 61923P 61923 Block, Terminal

6 Y61199 3400094 Screw, 10-32 X 3/8



http://www.pwslaundry.com/c-503003-residential-amana-le7163lm-(bom:-ple7163lm)-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10396300-amana-489069-washer-dryer-xxscrew-10-12-x-1-2.html
http://www.pwslaundry.com/i-10393354-amana-20530-washer-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10393378-amana-61923-washer-dryer-block-terminal.html
http://www.pwslaundry.com/i-10396534-amana-3400094-washer-dryer-screw-10-32-x-3-8.html

	Amana LE7163LM (BOM: PLE7163LM) 18 - POWER CORDS

